Math 1113 Sample Tess 1 Solutions

1) (c) polernomial dequa 6
2) nob a polynomial (B)
negatuve power of $x$
3) Dhits night 6 and up 9
(A)
4) $x=-2 \quad x=2 \quad x=8$

$$
(x+2)(x-2)(x-8)
$$

5) 

$$
\begin{aligned}
& x=-4 \\
& x=1 \\
& x=1
\end{aligned} \quad(x+4)(x-1)^{2}
$$

6) (C) $6 k$
(e) $0 k$
(f) $6 k$
7) 

$$
\begin{aligned}
& (x-1)(x+6)=0 \\
& x \neq 1 x \neq-6
\end{aligned}
$$

8) a) $x \neq-2 \left\lvert\, \begin{aligned} & \text { Domain } \\ & y \neq-4\end{aligned}\right.$
b) $x$ ind $=0$
$y$ into $=0$
c) $y=-4$
$H_{1} A_{1}$
d) $x=-2$ $V, A$
e) none
9) 

a)
$\left.\begin{array}{l}x \neq 2 \\ x \neq-2\end{array}\right\}$ Domain
Range
$y<-2$
$y \geq-1$
b) wins $x=1$
e) none
$x=-1$
Mint $y=-1$
c) $16, A, y=-2$
d) $x=-2 \quad x=2$

VA
10) shift right 2 and up 2 (D)

| $11)$ |  |  |  |  |
| :--- | :--- | :--- | :--- | :--- |
| $R(x)=\frac{2 x}{x+6}$ | $x+6=0$ | $x=-6$ | $H, A, y=\frac{2}{1}=2$ | $O, A$, none |

12) $V_{1} A_{1} \quad x^{2}-8 x+15=0 \quad H_{1} A_{1}$ top heavy

$$
R(x)=\frac{x^{3}-27}{x^{2}-8 x+15}
$$

$$
\begin{gathered}
(x-3)(x-5)=0 \\
x / 3=5
\end{gathered}
$$

$$
S, A, y=x+8
$$

13) $T(x)=\frac{x^{3}}{x^{4}-81}$

$$
\begin{aligned}
& V, A, x^{4}-81=0 \\
& \left(x^{2}-9\right)\left(x^{2}+9\right)=0 \\
& (x-3)(x+3)\left(x^{2}+9\right)=0
\end{aligned}
$$

H.A. bottom heavy $y=0$
14) $R(x)=\frac{x+11}{x(x+16)}$

| a)$x \neq 0$ <br> $x \neq-16$ (c) | c)$H, A, y=0$ <br> s.A. none <br> b) $\vee, A$. <br> $x=0$ d) (c) $x=-16$ |
| :--- | :--- |

15) $R(x)=\frac{10 x+10}{3 x+9}$
a) Domain
c) $16, A, y=\frac{10}{3}$

$$
x \neq-3
$$

S.A. none
b) V.A. $x=-3$
d) (A)
16) $R(x)=\frac{x^{4}+x^{2}+10}{x^{2}-64}$

17) $R(x)=\frac{8}{(x-5)\left(x^{2}-64\right.}$
a) Domain
c) H, b. bottom.

$$
x \neq 5, x \neq 8, x \neq-8
$$

b) U.A, $x=5$

$$
x=8
$$


d) (C)

$$
x=-8
$$

18) Solve

$$
\begin{aligned}
& (x+6)^{2}(x-7)<0 \\
& x+6=0 \quad x-7=0 \\
& x=-6 \quad x=7
\end{aligned}
$$

tesb pto

$$
\begin{array}{l|l|l}
x=-5 & x=0 & x=8 \\
y=-12 & y=-252 & y=196 \\
y 20 & \text { ye0 } & \text { (10) } \\
(-\infty,-6) \cup(-6,7)
\end{array}
$$

19) $x^{3}-9 x^{2}<0$

$$
\begin{equation*}
x^{2}(x-9)<0 \tag{D}
\end{equation*}
$$

$x=0 \quad x=9 \quad$ tese $p t$

$$
\begin{array}{l|l|l}
x=-1 & x=1 & x=10 \\
y=-10 & y=-8 & y=100 \\
y 00 & 500 & 00
\end{array}
$$

20) $4 x^{3}>36 x^{2}$

$$
\begin{aligned}
& 4 x^{3}-36 x^{2}>0 \\
& 4 x^{2}(x-9)>0
\end{aligned}
$$

$x=0 \quad x=9$.
tese pto

$$
\begin{array}{l|l|l}
x=-1 & x=1 & x=10 \\
y=-40 & y=-32 & y=400 \\
\text { no } & \text { no } & y y
\end{array}
$$

21) $\frac{(x-4)(x+8)}{x} \leq 0$

$$
\begin{array}{ll}
x-4=0 & x+8=0 \\
x=4 & x=-8 \quad x=0
\end{array}
$$


test pat

$$
\begin{array}{l|l|l|l}
\begin{array}{ll}
x=-9 & x=-7 \\
y=-1,4 & x=1 \\
y=1,5 & y=-27 \\
y=-26 & y=5 \\
(100 & y e 0 \\
(-\infty, 8] & (0,4]
\end{array}, D
\end{array}
$$

22) 

$$
\begin{align*}
& \frac{x+17}{x-4} \geq 1 \\
& \frac{x+17}{x-4}-1 \geq 0 \quad \frac{21}{x-4} \geq 0 \\
& \begin{array}{ccc}
x=4 \text { cutrad \& } y=-21 & y=21 \\
\text { no } & y=3
\end{array}  \tag{20}\\
& \frac{x+17}{x-4}-\frac{x-4}{x-4} \geq 0 \\
& \text { teot pot } \\
& x=3 \\
& x=5
\end{align*}
$$

23) 

$$
\begin{gathered}
\frac{6}{x-8}<\frac{7}{6 x-7} \\
\frac{6}{x-8}-\frac{7}{6 x-7}<0
\end{gathered}
$$

$\cos (x-8)(6 x-7)$

$$
\begin{aligned}
& \frac{6(6 x-7)}{(x-8)(6 x-7}-\frac{7(x-8)}{(6 x-7)(x-8)} \\
& \frac{36 x-42-7 x+56}{(x-8)(6 x-7)}<0 \\
& \frac{29 x+14}{(x-8)(6 x-7)}<0
\end{aligned}
$$

cntron numbers

$$
\begin{gathered}
29 x+14=0 \\
x=\frac{-14}{29}
\end{gathered} \left\lvert\, \begin{gathered}
x-8=0 \\
\left(\begin{array}{l}
-\frac{14}{29}
\end{array} \frac{6 x-7=0}{} \quad 1 \quad 8=\frac{7}{6}\right.
\end{gathered}\right.
$$

Last pt

$$
\begin{array}{l|l|l|l}
x=-1, & x=0 & x=2 & x=9 \\
y=-1,2 & y=125 & y=-2.4 & y=5,8 \\
\text { geo } & \text { no } & \text { not } & \text { no }
\end{array}
$$

$$
\begin{equation*}
(-\infty,-14 / 29) \cup\left(\frac{7}{6}, 8\right) \tag{c}
\end{equation*}
$$

24) 

$$
\begin{aligned}
f(x) & =3 x^{3}-2 x^{2}-4 x-6 \\
f(2) & =3(2)^{3}-2(2)^{2}-4(2)-6 \\
& =24-8-8-6 \\
& =(2)
\end{aligned}
$$

$$
x-2 \quad k=2
$$

$x-2$ a factos?
(NO) $1 \neq 0$
25) 7 max yemo

$$
f(x)=\underbrace{-3 x^{2}+x^{3}-x^{2}}_{1}+3
$$

301 + reed yeres

$$
\begin{aligned}
& f(-x)=\underbrace{3 x^{7}-x^{3}-x^{2}}_{1}+3 \\
& 2 \text { on } 0 \text { need yexs }
\end{aligned}
$$

26) 

$$
f(x)=6 x^{4}+8 x^{2}-2
$$

$\max$ yevo (4)
$t$ neel besos (1)ign chane

- neal beno

$$
f(-x)=6 x^{4}+8 x^{2}-2
$$

(D)ign change
27)

$$
\begin{align*}
& f(x)=2 x^{4}-3 x^{3}+x^{2}-x+1 \\
& p=1 \rightarrow \pm 1  \tag{0}\\
& q=2 \rightarrow \pm 1, \pm 2 \quad \frac{p}{q}= \pm 1, \pm \frac{1}{2}
\end{align*}
$$

28) 

$$
\begin{align*}
& f(x)=33 x^{4}-x^{2}+121  \tag{0}\\
& p=121 \rightarrow \pm 11 \pm 11, \pm 121 \\
& q=33 \rightarrow \pm 1, \pm 3, \pm 11, \pm 33
\end{align*}
$$



$$
\begin{aligned}
& p=2 \rightarrow \pm 1, \pm 2 \\
& q=3 \rightarrow \pm 1, \pm 3
\end{aligned}
$$

$\left(-1 \begin{array}{rrrrr}3 & 2 & -7 & -4 & 2 \\ & -3 & 1 & 6 & -2 \\ \hline 3 & -1 & -6 & 2 & 0\end{array}\right.$


$$
\begin{equation*}
\frac{p}{q}= \pm 1, \pm \frac{1}{3}, \pm 2, \pm \frac{2}{3} \tag{2}
\end{equation*}
$$

$$
\begin{aligned}
& \text { (1) } \begin{array}{rrrrr}
3 & 2 & -7 & -4 & 2 \\
-3 & 1 & 6 & -2 \\
3 & -1 & -6 & 2 & 0
\end{array}
\end{aligned} \begin{aligned}
& 3 x^{2}-6=0 \\
& 3 x^{2}=6 \\
& x^{2}=2 \\
& \left(\frac{1}{3} \begin{array}{rrrrrr}
3 & -1 & -6 & 2 & 0 \\
1 & 0 & -2 & 0 \\
3 & 0 & -6 & 0 & 0 & x= \pm \sqrt{2} \\
x=\frac{1}{3} \\
x=\sqrt{2} \\
x=-\sqrt{2}
\end{array}\right. \\
& \begin{array}{l}
(x+1)\left(x-\frac{1}{3}\right)(x-\sqrt{2})(x+\sqrt{2})
\end{array}
\end{aligned}
$$

zenes
31)

$$
\left.\begin{array}{l}
f(x)=8 x^{4}-3 x^{2}+4 x-1 \quad[0,3] \\
f(0)=8(0)^{4}-3(0)^{2}+4(0)-1=-1 \quad \text { nesatuse } \\
f(3)=8(3)^{4}-3(3)^{2}+4(3)-1=632 \text { pasitise }
\end{array}\right\} \begin{aligned}
& \text { Sisn } \\
& \text { Change } \\
& \text { so (300): }
\end{aligned}
$$

32) dequee 3

$$
x=7 \quad x=-9-i \quad \infty \quad x=-9 x_{i} \text { also bead }
$$

33) deerce 6

$$
\begin{array}{rlrl}
x=3 & x & =-9 & x \\
& =-1+i & x=-2-i \\
& \text { or } & x=-1-i \quad x=-2+i
\end{array}
$$

34) $f(x)=x^{3}-7 x^{2}+25 x-175$
treal sis
(3) $\backsim(1)$
$x=-5 i$ an $x=+5 i$ othen complex yeno. $f(-x)=$

$$
\begin{array}{r}
x^{2}+0 x+25 \frac{x-7}{x^{3}-7 x^{2}+25 x-175} \\
\frac{x^{3}+0 x^{2}+26 x}{-7 x^{2}-x-175} \\
\frac{-7 x^{2}-0 x-175}{0}
\end{array}
$$

$$
x-7=0
$$

$$
x=7
$$

$$
x=+5 i
$$

35) $h(x)=3 x^{4}+10 x^{3}+4 x^{2}+40 x-32$ treal ón - real ós
$x=-2 i \quad$ oo $x=+2 i$ abo beno!

$$
f(-x)=+,-,+,-
$$

$(x+2 i)(x-2 i)=x^{2}+4$ ib a facter

$$
x^{2}+0 x+4 \frac{3 x^{2}+10 x-8}{3 x^{4}+10 x^{3}+4 x^{2}+40 x-32}
$$

$$
\Theta_{3 x^{4}+8 x^{3} \Theta 12 x^{2}}
$$

$$
10 x^{3}-8 x^{2}+40 x
$$

$$
\begin{aligned}
& 3 x^{2}+10 x-8=0 \\
& (3 x-2)(x+4)=0 \\
& 3 x-2=0 \quad x+4=0 \\
& x=\frac{2}{3} x=-4
\end{aligned}
$$

$$
\frac{\Theta_{10 x^{3}} \text { Yox }^{6} \Theta_{40 x}}{\begin{array}{l}
-8 x^{2} \text { tox }-32 \\
\oplus_{-8 x^{2}} \text { tox } \oplus_{32}
\end{array}}
$$

$$
\begin{aligned}
& x=+2 i \\
& x=-2 i
\end{aligned}
$$

36) $h(x)=x^{4}-12 x^{3}+40 x^{2}+16 x-240 \quad$ deepee 4
$x=4-2 i$ so $x=4+2 i$

$$
x^{2}-4 x-12=0
$$

$$
(x-6)(x+2)=0
$$

$$
\begin{array}{l|l}
x-6=0 & x+2=0 \\
x=6 & x=-2
\end{array}
$$

treal ós
(3) $(1)$

- neal óo $f(-x)=+1+1+-i$ (1)

$$
\begin{aligned}
& x \\
& 4-2: \sqrt{1-12 \quad 40 \quad 16-240} \\
& \frac{4-2 i-36+8 i}{} \frac{32+24 i}{} 1-8-2 i \quad 4+8 i \quad 48 i 44 i \text { (0) }
\end{aligned}
$$

37) 

$$
\begin{aligned}
& f(x)=x^{4}+12 x^{3}-9 x^{2}+48 x-52 \\
& p=52 \rightarrow \pm 1, \pm 2, \pm 4, \pm 13, \pm 26, \pm 52 \\
& q=1 \rightarrow \pm 1 \\
& \frac{p}{q}= \pm 1, \pm 2, \pm 4, \pm 13, \pm 26, \pm 52
\end{aligned}
$$

Decante Rule

$$
f(-x)=+,-,-,
$$

(1) $\sqrt{\prime}$

| $(1)$1 12 -9 48 <br> 1 13 -52  <br> 1 13 4 52 |
| ---: |
| 1 |

(-13) $\longdiv { 1 } 1 3 \quad 4 \quad 5 2$

|  | -13 | 0 | -52 |
| :---: | :---: | :---: | :---: |
| 1 | 0 | 4 | $(0)$ |

$$
\begin{aligned}
& x^{2}+4=0 \\
& x^{2}=-4 \\
& x= \pm 2 i
\end{aligned}
$$

beno

$$
x=1 \quad x=-13 \quad x=2 i \quad x=-2 i
$$

factons

$$
(x-1)(x+13)(x-2 i)(x+2 i)
$$

12) 



